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Maths

Comparing Quantities
if Rohit borrows Rs 4800 at 5% p.a. simple interest, then find the amount he has to return at the

end of 2 years.

If 12% of a number is 9, then find the number.

Find the amount and the compound interest on Rs 5000 for 2 Years 6 Months at 10% per
annum interest compound annually.

Find the compound interest of Rs 2000 for 1.5 Years at the rate of 4% per annum, the interest
payable half yearly.

Find the compound interest on Rs 1000 for 9 months at the rate of 4% of per annum, the
interest being paid quarterly.

At what rate p.a. compound interest will Rs. 625 amount to Rs 676 in 2 Years.

On how much principal will the compound interest amount to Rs 160in 2 Years at4% p.a.
The difference between the compound interest and the simple interest on a certain principal

for 2 years at 4% p.a. is Rs 150. Find the principal.

Algebralc Expressions and Identities

. Using identities, evaluate

a)47 x 48 b) 105 x 97 c) 103?
Find the product of the following
a) (x+ 3)(x+5) b) (5x = 7)(5x + 2) c) (81x* - 64y?) d) (x* -vy*)

Using the suitable algebraic identity, find  a)512-49?  b) (1.02)? - (0.98)?

. Show that: (4pq + 3q)* - (4pq — 3q)? = 48pq?

Show that: (a-b){a+b)+(b-c){(b+c)+(c—a)(c+a)=0



Mensuration

1. Find the height of a cuboid whose base area is 360 cm? and volume is 1800 cm?*?

2. Diameter of cylinder Ais 7 cm, and the height is 14 cm. Diameter of cylinder B is 14 cm and height is
7 cm. Without doing any calculations can you suggest whose volume is greater? Verify it by finding
the volume of both the cylinders. Check whether the cylinder with greater volume also has greater
surface area?

3. Aroad roller takes 1500 complete revolutions to move ance over to level a road. Find the area of the
road if the diameter of a road roller is 168 cm and length is 2 m.

4. If the base area and volume of cuboid are 12 ¢m sq. and 36 ¢cm cube then what is its height ?

5. What is the total surface area of cube whose volume is 1 cu.cm ?

6. A closed cylindrical tank of radius 14 m and height 6 m is made from a sheet of metal. How much
sheet of metal is required?

7. The lateral surface area of a hollow cylinder is 8448 cm?.It is cut along its height and formed a
rectangular sheet of width 66 cm. Find the perimeter of rectangular sheet?

8. A rectangular paper of width 28 cm is rolled along its width and a cylinder of radius 40 cm is formed.

Find the volume of the cylinder.

, , 2\* _ 32
1. Findx, if (—;) = (—24—])
2. The perimeter of a Ais S — 3x + 7x? and two of its sides are 2x? + 3x—2 and 3x? —x + 3. Find the

third side of the 4.
3. Evaluate -

Exponents & Power

2

) () x (1297 x (129)3

129 5 .
i) (27)F =+ (81)
i) (72 +24%)7 x (125)3

4. Simplify (x% +x3) + (x5 +1)
5. Simplify (9) x (8)3
6. Evaluate (52 + 122)';'
7. Simplify Zx% X Zx%
8. (27)3 x (125)7
Equation In one varlable

1. Find x, if

0 5=3 z5=5

(ii) :r-_t:,-:::] - % (v) 2(1:-:::(:"1} = %

(iiil x+a a=b

— T e—

x=-a a+b



MATHS

Q.1Divide the sum of g and;hy the product of - -33nd’f-.

Q.2 By what rational number should -%be multiplied to get the product as -157?

Q.3 Verify the commutative property of addition for the following palrs of rational numbers : (i) -E and -:-
(ii) %and %

Q.4 Ramesh cut a :!14l m long rope Into pieces of dfm length each. How many pleces of the rope did he get?

Q.5A,8,C,D and E went to a restaurant for dinner. A pald %of the bill, B paid %nf the bill and rest of the bill was
shared equally by C,D,E. What fraction of the bill was paid by each?

Q.6Find the multiplicative inverse of -‘El-x -%.

Q.7Find the additive Inverse of -E

Q.8Solve the following equations and check the solutions:

(1) 5- 3(5x+2) = 4(7-3x)+1 (i) Z=41=22

Q.9The sum of two numbers is 90 and the greater number exceeds thrice the smaller by 14. Find the numbers.
Q.10 Find two consecutive even integers such that two- fifth of the smaller exceeds two-eleventh of the larger by 4.
Q.11The denominator of a fraction exceeds its numerator by 4. If the numerator and denominator are both

Increased by 3, the new fraction becomes -:; Find the original fraction.

Q.12When four consecutive integers are added, the sum is 46. Find the integers.
Q.13HIKE Is a parallelogram , Find xand y

H !
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Q.14 RICE is a rhombus . Find xand y
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Q.15 GUNS is a parallelogram. Find the measures of x and y

G pid u

X420 N

Q.16Find the measure x

Q.17 Find the sum of measures of all the interior angles of a polygon with the number of sides: (i) 8 (i) 12
Q.18Find the number of sides of a regular polygon If each of its interior angle (i)90° (i) 165
Q.191f the angle of a pentagon are in the ratio 7:8:11:13:15, Find the angles.



